OSRG-S FBHERSHES i
ST, AEREESRERR

)\ HEICIEERIE (B %)
(EFME]: 60 2%k 4. 100 43)

— BE (B 175, 3K£330)

L. /N ] 1 500 i , EM VLRBHG s B R/NEGH
2. WM —51E FTH=51E

0. 7 BAE 13. 5 BAF
3. fEOHIAE “>7 | “” 8 “=7

0.500.9 1.200.8 3.904.1

0.7KOT7 4K  343K00.4 % 1.2 7809 £

4. 482.4, 0.9, 1.7, 1.5, 0.4 WNFEIRHE—HE:

5. TEAH 2.5 oWy, BV 3.0 70, MRYVEH 1.8 7T, X=Fhah . &EtH
» EAEE )

6. NUIBET 3.2k, AEBET 2.8 K, ANEBKT 41K, 6

7. FEECH BRI ) NE

Fm

el
&

FESFHH 0T, IR 0. 5, BT 1.
8. FEHHHEL

(1) 0.5, 1. 1.5, 2,

(2)3.1. 4.2, 5.3, 6.4,

9. 0. < 0. 3. < .2

= Al (REELL 2p, 3E5 1)

L. /NGB LB RN ¢
2. Zhr 2z — R 0.5 K. )
3.100 Kpbbg, /AWM T 16. 780, /AMERT 17280, NBIHIEIPR. C D
4. 35 70 KRG BN U 2 3. 5 K. « D
5.1 702 AIEFTAS R 1. 2 TG, (G

=\ E 3L 2650




OSRG-S FBHERSHES i
ST, AEREESRERR

L HESHAE. (B 17y, 316 7)

0. 5+0. 3= 5.1-0. 2= 2.1+1. 4= 0.7-0. 3=
3.5-1.9= 3. 6+0. 8= 1. 5+0. 9= 6.2-2. 6=

1. 3-0. 4= 7.3-2.5= 4. 7+0. 9= 5.6+1. 7=

6. 4+1. 8= 8.5-3. 6= 4.5-2. 1= 0. 4+0. 8=

2. EATHE . (RERL2.5 70, 310 73)

6. 2+2. 3= 4.8-1. 6= 8.9+3. 8= 6.1-3. 8=

DU, BRI (486 7, 3k 36 7

LR,
JRE CKD % CK e CKD
R4 2.5 1.6
ARG 0.5 0.7

2. (WDEREE) BEA ST IT, GERREE) HE (INERE) $10.8 8. A —

ez oe?

3. AFAERK 5.6 KIEAKTIR, SHKTMAK 1.8 K, KREAHK?

4 NI —ER R, ERAMT 17K, #TH T 0.8 K.
(1) #EFH ERDH T 20K

BS e, T, B, BRI
% 19T, DAREESHEAE




ORI SN HEERSES iy
ST, AEREESRERR

(2) —BERKMR = 72K

5. —HIMIEAE 5. 2 To¢, Bt —Fl 5, EARIEE 2.8 T30, MR JFRA M Z > T30 ?

6. —MRHZ, CM% 203K, R THRIAILERR 17K, IR Te2KLK?

i
SRS %, T8, EE, SR T

RS ST, ITREESREAE



SRS s, s, E, ERTRI
& ST, DAREES AR

ORI S HENERSES i

R T, BRREESERR

B B VP bt

WK B B AN B 5 1 TCH Al R O TAB AR R RIS JIWr . ohE R
Ji 3 EFHR R AR R IAE AR, 2 A S B2 A N IOIIR IR . AE
WGBS E b, B2, MEFAER AR INEE. EatRiRE A 52 70 5,
EA R RN R O B R AT SR ) Mk R RZ) 20 7, BAEMRE
B BB MRS, RN I Ber iR 2 — e = MEEER w0 R 3E LG 10 70, AR
et AR YR RITIRE Sy, 7 B A — E RIS A

B B SEER KT

— LN KA A 242 0.3 FEAEL FEAT 3> <= <o
4.0.4€0.9<1.5<1.7<2.4 5. #yt BRY¥ 6./8FE 7.0.2 0.7 1.1 1.7 2.3 2.9
0.7 1.1 8(1)2.5 3 (2)7.5 8.6 9. W —.1.X 2.V 3.4 44 5 4 =,
1.0.8 4.9 3.5 0.4; 1.6 4.4 2.4 3.6 0.9 4.8 56 7.3 82 4.9 2.4
1.2 2,85 3.2 12.7 2.3 P9, 1.2.5-1.6=0.9 ()  0.5+0.7=1.2 (k)
2.3.7+0.8=4.5(JC) 3.7+4.5=8.2 (Ju) &: PIAP—IL8.270 3.5.6-1.8=3.8 CK)
ZKIE 3.8 K 40 (1) 1.7-0.8=0.9 (k)  E ¥ L ERDSHT 0.9 K

(2)1.7+0.8=2.5(K) &F: —ERMR 7 2.5 K 55.2-2.82.4 (T 3)
2.4+2.4=4.8 (T3> & WHREERAGM 48 Tw 6.21.3-1.7=19.6 (K)
21.3+19.6=40.9CK) & X4 141K 40.9 K.

AERB T JLEE S B YT

1S 5 A AR 8 A U — S ) DR/ SR R R A V6 v (Y SE B 1) 8, b5 AR 2
B eI S, LU 3 AN — RO/, Se B BEGT 4y, ORI 3, BT LA 53 (1 2 1
e BEEGHR O BN 1, BT AR B R 2 R .

2. ST T W fRVLILISEH , FAEBANELE 0 A 1 ZFR T AL, £ 1R 2 208
B — L, 7R 2 03 Z IR AL, RIS, BRI RSB 0. 5 AEEIH
0.4, ZAELHRECH R 1A BT 0. 5,

3 9 L AR BT HUE, 1 MNEL, WRABKTHERI 9, b HE
BT 8~1; WA IATHERIAS, AWM HE B AT LR 7~1; DLEHE. JF—/ N
AT RE B /N 3, X e 5 RE BLRT DA 1 B 0 AniRAG I HE AR LL 3 KIME, A&
177 HE BLAR AT LUK 0~9.




QSRR --- S NS EHERSES #

R T, BRREESERR

4. FIWTREES 3 R A RS ) EUR— L B R R AR ARV T ) S PR R R, 5L E
T AN [ P 2 620 I T )t B A5, BT ) R P S0 B0 A P EE B0 2 AN KD, 16, 7<17. 2,
JIT LA/ B AT B PR

5. RTIHHEM, BAGHEMEH, REREERE MRS, M N
R L/NBUSXSE. 20 WK E . 3. 3% R RO IR T S vk v 5, B3GR o
&0 BIABER I .

6. M RIS | ASEUE SR B R BN RR R, FE A,
SRAT 4 . ARG T RRATHA K AE: ST ERA 2.5 K, X 16K, RicE £
KAWL . FIEAZ: 2.5-1.6=0.9 CK). B MRATHEFRRINIHAN %4 BTHE
0.5°K, &34 0. 7 K, SRIXARA T FRKZARKAINET . FIHAZ: 0.5+0.7=1.2 CK).

TR PSS 2 L. R SRR H BN e, ERPIA I bon, B E SRR
e GERIREC) s, T GERIREC) e CONVNEFREE) 5t 0.8 76, FRLAVHIE TS, 41
R 3. 7+0. 8=4. 500) » FHEMMBIIM AR, FIH AR 3. 7+4.5-8.2 (Jo).

8. fif v LA 5 8 A S I A I A R 5. 2 WA T Z REME 2. 8 iR 3
57— 2.4 T3, FH 2. 4+2.4=4. 8 (T-5L) BiAE S il B R A 4. 8 T3

9. fiFein] B 6 B R HZ M B K, ERXMABLeKZ DK, HEEK
AN 2K TR L A 17 oK, BrRL ARG, SR AR, 21.3-1.7=19. 6
CKD, FHE 2 BTN 8 B Rt /e X AR FEL 2k 1 BOK B, #1150 21, 3+19. 6=40. 9 CK) .






